1. KaneHaoapHbIn y4eOHbIN rpaduk

CeHTs6pb OkTs6pb Hos6pb [Jekabpb SHBapb ®eBpanb MapTt Anpenb Man MioHb Mionb Asryct
LN o~ — — LN (a2} LN ~
wee [ [2[5[8 [ 227] & [ [2[R[B~=5TR] & [2[2[8 | [ [2 [ | [=[2[R[R |2 [2] 215 s [ 2[5 3] = [=] 7] 7| & [ [ %] o[ = [ 2] R]
“lelw|d] |el2[R] ["le(s]|g[7|eal] [ [Y]el2] [Y]elela] [elz(:] [«|=[2|8]7|=|2[x] [e]|2[:] [~|2|5]
112(3|4|5]|6|7]|8]9(10[11]12{13|14|15|16(17|18]|19[20|21]|22|23|24]|25|26(27]|28]29(30|31]|32|33|34|35|36(37|38]|39|40|41|42(43(44|45|46|47|48]|49(50|51]52
I 3|3|3|[K|K 3|3|Y|Y|K|K[K|K|K|[K]|K
II 3|3[3[K|K 3|3[3|K|K|K[K|K|K|[K]|K
111 3|3[3[K|K 3|3|afn|n|n|fn|K|K[K|K|K[K]|K
v 3|3[3[K|K 3|a(a|n|n|alAlAlA|K|IK]|K|[K[K|K]K|[K
2. CBoAHbIE AaHHblIE
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Wroro
cem. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2 | Becero | cem. 1| cem. 2 | Bcero
TeopeTuyeckoe obyuerme u 18 | 18| 36 | 18| 18| 36 | 18| 15| 33| 14| 16 | 30 [ 135
paccpeaoToyeHHble NDAKTUKN
39 [2k3aMeHaLMOHHbIE ceccum 3 2 5 3 3 6 3 3 6 3 3 6 23
YuebHasi npakTuka 2 2 2
M |Mpoun3soacTBeHHas NpaKTuKa 4 4 2 2 6
[ |BbinyckHas kBanudukaumoHHas paboTa 4 4 4
K |KaHukynbl 2 7 9 2 8 10 2 7 9 2 8 10 38
UToro 23 29 52 23 29 52 23 29 52 19 33 52 | 208
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